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Cracker F-Test

Empty Full
n=20 n=20
X=22 X=15
Normal Tobese = 740
T=440 T=300
S$S=1540 $5=1270
n=20 n=20
X=17 X=18
Obese Tnormal =700
T=340 T=360
$5=13200 5S5=1266
G=1440
Tempty == 780 Tfull - 660 N=80
3 X?=131836

Step 1. Build Hypotheses

- Weight(Normal or Obese)2|
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A3t0f| h2 Cracker A4%|2kQ| X}0|,
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Step 2. Locate the critical range for F-ratio. Calculate the dr.ss ms, F

=520

Af = N—1=80—1=79
Af perween = k—1=4—1=3 (k = The number of groups)
af within = N—k=80—4=176
df 4, (numberoflevelsof A—1) =2—1=1
de*B = (dfbetween_ (de +de)) =3- (]-+]-) =1
df = (numberoflevelsof B—1)=2—1=1
S8 = X2 — o = 31836 — 1440° 5916
total N 30
77 G* O, 440% | 3007 | 340 | 3607, 14407
SSherween = 25~ N (T 0 T 50 T 0 )T s
SSithin = ES vach treatment — 1040+1270+ 1320+ 1266 = 5396
T 2 2 2 2
58, = E—A—G—=((440+300) . (340 + 360) ) 1440

N 40 40

Ny

=2
80 0
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ng N 40 40 80
SS4v5 = 8S)1ween — (894 +855) = 520 — (204 180) = 320

T2 2 2 2 2
58, = Zi_Gi_(mO +660 )— 1440 — 180

MS, = 7 =20
MS, = % = leao: 180
SS 45 g
MS 41y = df:*g = 3—30:320
S’Swit n
MSwithin = df v"t:' = 5?26 = 71
F,= #: i—(l)z 0.28169
within
Fy= M;‘{SB = 1%0: 2.53521 F), = Mj‘;i: 1%0: 2.53521
within within
Fip= ;Z;YA*B = 372—10~ 4.50704
within
Table 1. Mean number of crackers eaten in each treatment condition
® M = Mean Fullness
® SD = Standard Deviation Empty Stomach Full Stomach
M=22 M=15
Normal SD=9.00 SD=8.18
Weight M=17 M=18
Obese
SD=8.34 SD=8.16
Result
Source SS df MS F
Between Treatment 520 3 ><><
Factor A(Weight) 20 1 20 i—(l)x 0.28169
Factor B(Fullness) 180 1 180 178—10 ~ 2.53521
A*B Interaction 320 1 320 372—10z 4.50704
Within Treatment 5396 76 71 ><
Tota 5916 79 e
Weight*Fullness Factorial Design
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Stage 3. Statistical Decision

MY BE ARBSH 18t F,(1,76) = 0.28169
Fp(1,76) =~ 2.53521
Fu.5(1,76) = 4.50704
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F caculated vauleZ,

Of =0l AlAtSt= Hf

Ct21f 2t F,. 5= numerator > denominator 2= FO|C},

—
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&, F gf0| 3Ctn & & U=, F 20| ACts A2 SAYNORE Q05L& =+ UD, F g2 ot =2l AL
oF &hAst xto|o| H|80| EXF ZA(F critical value)g X1t AL Group 2te| Xt0|2 &9QIsH= Zo|2t & 2 QIct AEH
©2, 1F 29| Differences 7t QUCtD TR & S ZO|CH.

ol2{st AM2to| Ettd HZS2 28l F distribution table® E3l F critical valueE AfOt=EMH,

. . 1 1
Degrees of freedom in denominator = 7691 30| tabled|| ¢lOL| E2Z 600 %tF AL (F, = ﬁ)
Fcr’iticalraluf( 60 p 05) ~ 4.00
TableE XDI.—;E I'O:I %{C% 74J_|'|-' E’ritit’ai’mlue% IE-IE a)t% FA*BEI Flzritical’ualueﬁtl- X_ll'% F’A7FVBE null hypOthESiS% _E'_%I'éél'
4 Qi10, Fy .= null hypothesisE &3
Step 4. Result Explanation
FA7FB a)tgl j:IO (’rzti(;alqral'ue a/tgl:l- EIlvjl [[H_E_Oﬂ *OI-:'CI-:'CIJ:”jl- E’I-ﬂ EI—I-EI—I-g _)F %U:l- JE-ILl- FYA*B‘| a)t% Fcriticalvalucgl
UELCE 30t M2k £ Factor?b SA[0 ZE[0{OF SAPF R[0St A8 EHZE 4 UCE 0] HE2 = Factor A%t
Factor B= BH-rQI Independent Variable2 Z£ A| Cracker ddF|Znf ArZtztADE HEISICID 22| {F#X|2E & =g
(Interact)g A 22 &g = Ut & =+ UCh
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